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1. Lack of atmosphere around the
Moon .is due to.

{{a) low escape velocity of air
molecule and low gravitational
attraction

+ (b) high escape .velocity of air
molecule and low gravitational
attraction

(c} low gravitational attraction
only

{d) high escape velocity of air
‘molecule only

2. Which one among the following
correctly definés a unit magnetic
pole in SI units?

It is the pole which when placed in
air at a distance of

fa) 1 foot from an equal and a
similar pole repels it with a
force ‘of 1 pound:

fb) 1 metre from an equal and a
similar pole repels it with a
force of 1 newton

(¢)-1 cm from an equal and a
similar pole repels it with a
force of 1 dyne

»

(dj 1 metre from an equal and
similar pole repels it with. a
force of 1 newton/m?

O-DETA-M-HL/48A

3. After rising a short distance, the

smooth column of smoke from a
cigarette breaks up. into an
irregular and random pattern. In a
similar fashion, a stream of ‘fluid
flowing past' an obstacle breaks up

‘into eddies and vortices which

give the flow irregular velocity
components transverse to the flow
direction. Other examples ‘include
the wakes left in water by moving
ships, the sound produced by
whistling and by wind instruments.
These eiiamples are the results of

(@) laminar flow of air
(b) streamline flow of air
{c) turbulent flow of air

(d) viscous flow at low speed

4.. Two identical piano wires have same

fundamental frequency when kept
under the same tension. What will
happen if tension of one of the wires
is slightly increased and both
the wires are made to vibrate

‘simultaneously?

{a) Noise

(b) Beats

(¢) Resonance

(d) Non-linear effects
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1. 959 R A & I9E FQ w8

27

(a) =17 319 F T warA 3 g T
eI

(b) Y AY F IA g an qur =
TRyl

(c) aw = eTedn

(d} % TTY 3] T IA TAEA a7

2. fr=fafaa & & F-arwH, SI el §

TR grEhE Ya H T AT w27
& 0 g4 ¢ Pl 59 arg #

fa) SEUSH M EAE gE /1 P Al
TR @ IR, @A 1 S
¥ wa & wfoerfia e @

(b) T F IR gHA ¥ A 1 R A
T W TEy i B, @98 T 1 =
¥ 91 @ fosfia wa &

(c) TS & AN A ga ¥ 1 Vo Hio
W R @I R, A Tw A
1 31 % 9 @ sfowia ot 2

(d) TOR F 3N TOA ga F 1 d RN
@R T R Awm A
1 geA/at do ¥ w@ @ wiewita
BT B
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3. Rz @ fe@ g = wwae wom,

g g 9% 331 F 9ar, w ufEhE ik
Tigfens wfaew & 3z smar ¥ 6t TR,
T W KA R T 9 G 9 H O
T & ag el IR ufhel | g ot ®
St wea ®, W@ fm ¥ gy
aFfaft| 9 ueh WEW wd Rl
JATEI #, TAEEA W S F 99 | g
Fgact, @& awm & of Iy gd §w
S tafy 81 3 sereRwr fhes aftonm €2

(a) 9T F TG Fa©
(b) TP F URRE vaTE
(c) T H UL TR

(d) T vfd | vam qaw

4, & waAA el ¥ Al f o e

TUH B, o 3¢ GHH a9 & W@l S B |
afR 1 aRl |/ T & @ @ -
w1 e s 3 At Akt w wwEy
witra fFar iw, o & @

(a) TR

m) e

(c) ¥

(d) Atfas awE
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5. What is' the major*role: of- a green-
house gas that contributes to
temperature rise. of the Earth’s
surface? .

(a) -Transparent- to ‘both incoming
'sunlight- and outgoing infrared
radiation

* (b) Stops both incoming sunlight
and outgoing infrared.radiation

(c) Lets outgoing infrared
radiation pass through but
stops incoming sunlight

(d) Lets incoming sunlfght pass
through but stops outgoing
infrared radiation

6. Which of the following statements
is/are. correct?

1. If a country is experiencing
increase in its per capita GDP,
its GDP must necessarily be
growing.

2. If a countfy is experiencing
negative inflation, its GDP
‘must be decreasing.

‘Select the correct answer using the
code given below :

Code :

{a¢) 1 only

(b) 2 only

(¢ Both 1 and 2

(d) Neither 1 nor 2

O-DETA-M-HL/48A

7. Which of the following measures
# should be taken when an,economy
is going through inflationary

pressures?
1. The direct ‘taxes should be
increased.

2. The interest rate should be
reduced.

3. The public speniding should be
increased.

Select the correct answer using the
code given below :

Code *

fa) ‘1 only
{b} 2 only
{fc} 2 and 3

(d) 1 and 2

8. The, basis of European Union began
with the signing of

(@) Maastricht Treaty
(b): ’I};eaty of Paris
(¢} Treaty of Rome

(d} Treaty of Lisbon

9. National income ignores

{a) sales of a fifrm
(b} salary of employees
{c) exports of the IT sector

{d) sale of land
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5. ey fw, N yodht A waw w1 A
;@ﬁﬁmj‘mﬁ?, #.9e7 qite w7
B7

(a) s Fhiewo i ffh s
fafereor, At & fve wrom 2

(b) FvmEft gERo ofk ffdt swRes
faftrror, 2t =t dwelt @

(c) Tt s fafeor ) daw
W R A armh whwa B
Tepelt &

(d) et gdfEm B dew S A 2
Qs fmit s fafmor = Jeedt
2

6. Frfafea # @ P-m/@ s vt 2787

1. IR = ¥ N 77 vfy =R GDP
& ofe # agva B w B, D zeh
GDP a3+ &9 @ 9 @ &t

AR T AW Fomen TR e
T/ H, O IWH GDP W W@
il

= R ™ g W= W W ogd w
g :

T :

(a) Fa 1

(b) Fa 2

(c) 1 3R 238

(d) s@R13MIA2

¢ 7. 99 0F Adsyaen W ol @ R

|, A frefafg okl @ SR
AT A 1R/ 319 o anfRe?

1. T4 I R gg1 & @iy

2. SE-R ¥ A =y

3. wEwf® o @g1 3 wifg

= R M 5w W w ad 3w
EGLE

e

(@). =1
(b} %I 2
(c) 233
(@ 132

8. IMfT g9 ¥ MR = wow frg wY W
FEATER FT | gan?

(@) TR dfy
(b) fm R gy
fc) Tm & Efy
(d) forea i @fr

9. W ywm ¥ fefiRes § ¥ few)

wfefera 74 form e 27

(a) T &° & farg

(b) =R = oA

(c) TN Wenfieh &7 & Fafa
(d) it = fosra

(P.T.O.
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(c)

(@)
{b)
(c)
(d)

(a)

(b)
(c)
(d)

13. The

(a)
(b)
(c)
(d}

L

-10. What are G. ~ arboreum,
G. herbaceum, G. hirsutum and

‘G. barbaderise, whose all the four
species  are cultivated in India?
(G = Gossypium)

{a) Species of wool.

(b} Species of cotton

Species of silk

(d) Species of jute

11. The soil formed by wind dust in and
.around hot deserts is called

silty soil
loamy soil
sandy soil

loess soil

12. L0~gically; what does a continually
rising air préssure indicate?

Advent of unsettled and cloudy
weather

Advent of a cyclone
Fine and settled weather

Fine and unsettled weather

TEAM-9 initiative is a

techno-economic cooperation
venture- between India’ and eight
countries of

West Africa
East Africa
North Africa

Central Africa

O-DETA-M-HL/48A

14. Which one among the following is the
* itype of 'the: Comoros Islarids which
lie .in the Indian Ocean between
Northern Madagascar and the
African- Coast?

(a) Volcanic
(b} Glacial eroded
{c) Eolian deposited

{d) Folded

15. Which among the following
conditions are necessary for the
issue of writ of quo warranto?.

1. The office must be public and
must be created by a Statute or
by the Constitution itself.

2. The office 'must ‘be ‘a sub-
stantive one and not merely
the function or employment of
a servant at'the will and during
the pleasure’ of another.

3. There has been a contraven-
tion of, the Constitution or a
Statute or Statutory Instrument,
in appointing such person to
that office.

Select the correct answer:uising the
code given below :

Code

(aj 1 and 2 only
(b) 1 and 3 only
f¢) 2 and 3 only

(d) 1,2 and 3

6
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10. Sto @R, o gdfeww, <o fegen
3 S0 FrHe~g—ThEsh! q IR il §,
Eﬁmﬁmﬁmﬁi‘mﬁ?(#h:
i)

(@) S 6t sfeat
(b) AT i SfEt
) m $ sfeat

11, T rarl # aun % I 3N w@H y| @
T Tt ga B P HF AT &7

fa) TN
(b) T
(c) G
(d) <eH T

12, hd:, TR SEal g A o fR
Hha T 87

(o) SRR R Aursd HiEd H1 A
(b) AT &1 HH

(c) =1 I R drem

(d) =31 3 Afer day

13. TEAM-9 31firA, W@ 3t =&l & =18
| & =, w NEfE-snfds ggam
Iy 87

(a) i T
(b) T ST
(c) I ITHH
(d) T ITHH
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14, frafaled & & Aa-m w Feidw 9t

98 TER ®, W fe= wewrn d, 3wd
HemrER iR arhish w2 % <=9 f@m 27

(a) SaTETHEE
(b) T srfem
(c) wrIFa fafta
(@) afew

15. ‘witng=er fe’ % S 1 F fag

Frafafaa cmei § @ #9-d v

{4

1. wHAled JEwEs §9 § R B
1tz 3R @ vk Sffy g awEn
@y dfaum g giva @ =fzw)

2. wHAEE TEEE ¥4 @ 0 HReE

B wfRw i Y@ w4 @ =i
& fft et = v @ faeE

el TR A T W AT EH
LEICACE R

3. Fuiem § W =t ¥ g §
ferga &1 3ge B @

2 f@ ™ g w1 W W Ef TN
EELE

L T3]

a) *ad 1 AR 2
(b) Faet 13 3
¢} Faa 2333
(d) 1,233

['P.T.O.
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(a)

(b)

(c}

(d)

(a)

(b)

(c)

(d)

16. Which one among the following s a
fundamental duty of citizens under
the"Constitution of India?

‘To provide friendly cooperation

to the people of the
neighbouring countries

To protect .monuments of
national importance

To defend the country and
render national service when
called upon to do so

‘To know more and ‘more about

the history of India

17. Which one -among the following
statements, is correct?

Due ‘to border problems,
India’s trade with' China did
not register- a- quantum jump
between the years 2001-2010

The stand-off between India
and China on Pakistan and
Arunachal Pradesh. did not let
India’s trade to grow with
China in the years 2001-2010
as much as it-grew-in the years
1991-2001

While India-China trade has
registered a quantum jump
between the years 2001-2010,
both the countries have
ensured parity of trade

In spite of border problems,
India’s trade with China

registered a quantum jump

during the.years 2001-2010

O-DETA-M-HL/48A

18. Which one among the following
statements about .globalization is
not correct?

(a)

(b)

(c)

(d})

Advocates of globalization
argue that it will result in
greater economic growth

Critics of globalization argue
that it will result in greater
economic disparity

Advocates of globalization
argue thag it will result in
cultural homogenization

Critics of globalization argue
that it will result in cultural
homogenization:

19, The best colours for a Sun umbrella
will be

(a)

(b)

c)

(d)

black on top and red on inside

b}ldck on top and white on
inside

red on top and black on inside

white on top and black on
inside
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16, Wl TR ¥ st Crefea § @ 18, DR wo # @ wwew

H-1 T, AR H el Food 87 el F wrra o T 87
(a) TS 2wt % @vi W gl @
TEH FHET (o) faweadim & sermmds T& 76
(b) TER e F TIE H WET FA & ftsra g u

fc) g F wn = I wfE VW w&w

N, W9 Y@ w0 % R smEm (b) RaEdEmr % S 98 a6 W

% w wvmra A nfis
e oy & aitvr gem
(d) wra & e % frvr § ot
e . (c) TowsrdeRty & wagnds ag @b A
§ % ar wiepls wemiueo §
aftura gim

17. Frfafas st § @ S9-w w of 37

(d) Frgederm ¥ A 1 @ R
% % I¢ anples godgsm §
gi{ora g

(o) & 2001 ® 2010 % i ¥ &
Y WA & =R, dw-aaen
R, AT IDTA &S T G 8

(b) W SR ITEIEW TN W WA
3R =W & o9 gave 3 9§ 2001 @
2010 % ¥RF < & @9 W@ +
AR # I Ty R R 19. YU Bal F U |9-a1 @ FEiwg gt
6 a8 3% 1991 & 2001 &% =
31 91

(@) TR FE M TR A A=

(c) i wrEa-97 =mw 3 7§ 2001
¥ 2010 % i TH TUEN IS oo
= oeht 2, ot W Y =mr A
T w g w R g

fb) I Y FHrAT 3R =T ¥ Wh

() FH Y TR M AT § FHIAl
(d) Hm-gwen % 9EsE, 9 % a
Yd % MR 4 99 2001 & 2010

F NF UF JHET 38T 59 ) 8 (d) FHR G TFE AN 37 QA FA
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20. Before X-ray examination’ (coiog’i'ed
X-ray) of the stomach, patients are
given suitable salt of barium
because
fa) barium salts are white in
colour and this helps stomach
to appear clearly

{b) barium is a. good. absorber of
X-rays and helps stomach to
appear clearly

{¢/ barium salts are easily
available

(d) barium allows X-rays to pass
through the stomach

21. The elements of a group in the
periodic table

(e} have similar chemical
properties

{b} have consecutive atomic
numbers

{c) are isobars

(d) are isotopes

22. Which one among the following
polymers is used for making bullet-
proof material?

{a} Polyvinyl chloride
(b) Polystyrene
{c) Polyethylene

(d) Polyamide

O-DETA-M-HL/48A
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23. The pH of human blood is normally
around

{a) 45-5:5

(b)

{c)

5'5-6-5

7-5-8:0

(d) 85-9-0

24. The pH of fresh groundwater slightly
decreases upon exposure to air
because

25.

(@)

(b)

(c)

(d)

carbon dioxide from air is
dissolved in the water

oxygen from air is dissolved in
the water

the dissolved carbon dioxide of
the groundwater escapes into

air

the dissolved oxygen of the
groundwater escapes into air

Who won the Wimbledon 2011 men’s
singles title?

(a)
(b}
(c)

{d)

Novak Djokovic
Roger Federer
Rafael Nadal

Andy Roddick
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20. A & X-faw wgw (T .X-fo) ,23. Y Wk 1 pH WYRIGE frat g @7

} vgat Wht A AW F Iy T
ST 8, s {a) 45-5'5
(a) A Tavi w1 U1 GhE a8 @ 3 (b} 55-65
¥ A H gee e #§ agaa '
EGi (c) 75-80
(b} <fEm, X-fRont ®w T = o
v 2 o o W e (d) 85-9:0
e ¥ weraar =@ &
(c) <ferm T e @ STmed € 24. T W@ W pH, FP-wAfRE B W
2 T 8, iR
(d) afEm, X-fwl w e § A o i
S ¥ R (o) g VA FEA TS I@ A qa
It B
21. IMFd GRU ¥ UH GE & a () TR SR g g

(@) T TERE 0 @ @ ]
() WS ® gfom Fea SReteEe

(b} AT TATY] HHIH T g #§ frea areh @

(c) wHIRH a & (@) ove # gim afwdiem g # i
frere st |

(dj amEnfE g § ? '

22. Pefifes § ¥ WF-w w  age, 25. fradet 2011 T e faars fe '

Mefl-Teft (Yore-1%) =/ R A TIH Sfar?
gt &7
o) TEH ST
(a) TiTARATES FARES
b) U 5w
(b} UifeeTSA ®)
(c) GRTCRE (c) T SR
(d) dATETES (d) T2 REH '
O-DETA-M-HL/48A 11 [P.T.O,
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: _has. recently demicd t«_
- grant of US $ 1 bitlmn for.
- 'reconstructmn of the . Nalanda

the

‘University?

{a) USA

(b} China
(¢} UK

(d) Japan

27. Which one among the folidwing is

the fastest Indian Supercomputer
recently developed by ISRO?

fa) Aakash-Al
(b) Saga-220
(c) J aguar—Crdy

(d) Tianhe-1A

28. The year 2011 has been celebrated

by UNESCO and IUPAC as
International Year of Chemistry to
mark the 100 years of Nobel Prize
winning by Madam Curie in
Chemistry. In this context, which
of the following statements is/are
correct?

1. The unified theme of the
celebration is Chemistry—our
life, our future,

2. The celebrations are made to
mark the contributions of

women to the development of
science.
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30, Which "

(b) Vitamin D"

(d) Vitamin C
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26. frafafad 24t & @ 9 @ 3 W
fyufreen % @ 3g w@ & A
1 fafas o wHo EeR F1 AEH | W
foof foran 27

(a) 10 THo Wo
(b) =M
fc) To o

(d). STIH

27. fafafaa § ¥ |9-81 w, ISRO TN ¥
2 i Rrepfi Fran e digam v ga-

T BT

(a) JEHET-AL
(b) €PTI-220
(o) -
(@) fers-1A

28. WA I fed g TN Ao LR S
¥ 100 = B ¥ suwem & 9 2011 H
UNESCO 3% IUPAC 3 =RigH™
wET 98 % ®9 § qAET SO R ™
dedf # fBfafaa = § & F9-w/8
we 2/87
1. wode # whied fowgey @
TEEA—HT S, T Wiesa |

0. 3 we faym % fawm # Afeened
¥ e & fafga F01 3g mAfw
R s 21
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LR Tfrf,'vﬁ%rﬁ'a 11*2( e &l 'SPﬁ"T . ar IW

B

LU ‘
(a) I 1

(b) Fad 2

(c) 1 3R 2 A

(@) FdqidRaA2

29. wEd 2011 #, Afufaa 2 & A fea

39 X fito off o9 =), S Fifdd e &
slifrw I W Wew ™ A, I wEd
Tyafy % wa # Faifa frn?

(@) WA

(b) I TRt

(c) RS,

(d) MR-

30. F=fafag § @ F9-w & faeiA @& #
o] o % foTY aTawE 27

(@) Fafm A
b) foeafm D
(c) feafim K

(d) fafmc

{P.T.O.
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31. Over 90% of the world’s-biomass. is
in

‘tropical rain forests.

(a)

freshwater wetlands

(b)

{c

topsoils

.oceans

(d)

32. Which one-among the following is a
source of methane emission into
the atmosphere?

{a) Automobile ‘exhaust' fume
(b) Industrial chimney

(¢) Mining

{d) Wetland

33 Which one. among the following
statements is not correct?

{a) Trophic dynamics represents
the transfer of energy from one
trophic level to another in a

bt Bt — 11 _ LI ¥ _F" XL _L__._ ¥ ' T

food chain

(b) In deeper parts of oceans,
primary production remains
almost nil

(c/) The primary’ consumers are
called autotrophs

(d) The decomposers are called

saprotrophs,

! O-DETA-M-HL/48A 14
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34. Carbon dioxide is called -a. green-
house gas because

(a) its concentration remains
always higher than other gases

(b) it is used in photosynthesis
(c) it absorbs infrared radiation
(d) it emits visible radiation

'35. The fossil of  Archaeopteryx

represents the evidence of origin of
(a)
(b)
(c)
(d)

birds from reptiles
‘mammals from reptiles
reptiles from amphibians

mammals from birds

36. Which of the following statements
is/are correct?

1. NIFTY is based upon 30 firms
in India.

2. NIFTY is governed  and
regulated by the Reserve Bank
of India,

3. NIFTY does
mutual funds.

not trade in

Select the correct answer uging the
‘code given below :

Code : "
(a).
b) 2
fc)
(d)

1 only

3 only

1 and 3

1 F=LEF-. 1148



31, fam =, 90% & 31 hawr =l 27 34, FEA SRIATAHES & NAERY NG Sl Sl

: 2, =i
(o) SRR 1 (@) T i T @ i 2
(b} JEFUEIE TR oy i g sifes el &
(b) TE WHTHI-TIATY § T B B -
(e) g & (c) ?mﬁ%mmmww

(@) wEETR
(@) % g fafmo sfia e @

32. Peffaa # & #F-m &, agaves § 35. fFamefaw w1 dEmm et safy

MO Feas T T G 27 T i et o 87
{a) wlgat | uaft
(@) Tenfera A Fata e ) et @ s
(b) e {c) U Y wlgy
(d) ufi @ waad
(c) @I
(d) 8y 36. Frfafas =l 4 @ SF-a1/Q adt §/E0
1. NIFTY Wd ® 50 S8 WAuE!
T W anaRa B
33, Prafafem 1 @ F9-w & w93 o T 2. NIFTY wihta fod 9% g fadba
27 i fifafa &1
3. NIFTY &gdd %8 A SANR &
() STER Sen #, at MR, wh a F@rl
| o &
e R 3R M g o W Ed T
EGLE
(b} TEERT % ofter wR wel = :
T ITAEA T I AT 8
fa) Faa 1
o) weIfteh Ui B WUt w@ (b) 2
e 8 c) ¥ 3
(d) STERH! R gadrdt FHE A (d 133
O-DETA-M-HL/48A 15 [P.T.O.
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37. ‘When the productive capacity “of
the economic. system of a State
is inadequate to create. sufficient
number of jobs, it is called:

(a) seasonal unemployment
(b} structural unemployment
(¢} disguised unemployment

(d) cyclical unemployment,

38. Which one among the following is
not a Millennium Development
Goal of the United Nations?

(a) Eradicate extreme poverty

(b)) Reduce birthrate and death
srate

() Improve maternal health

(d) Promote gencier" equality

39. Fiscal policy in India is formulated
by

{a) the Reserve Bank of India
(b} the Planning Commission
(c) the Finance Ministry

(d) the Securities and ‘Exchange
Board of India

O-DETA-M-HL/48A 16

40: Which one among thé following
is not a clause of World Trade

Organization?.

{a) Most favoured nation
treatment

(b) Lowering trade barriers with
negotiations

fc) Providing financial support to
the countries having deficit
balance of payments

(d) Discouraging ‘unfair trade

practices such as  anti-
dumping and export subsidies

41. Special Drawing Rights (SDRs) relate

to

{a)
(b}
(c)

{d)

the World Bank
the Reserve Bank of India

the World Trade Organization

‘the International Monetary

Fund

42. Which one among the following is

not a landlocked country in Africa?

(a)

Botswana

(b) Zambia

(c)

(d)

‘Lesotho

Nigeria
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37. <= feh vog i snfdies sy i RS
gl waty gem § R | R %
foru argaty 31, @ 3/ = wEd 37
(a) et sOsTd
(b) TTEATEHS SSATE
(c) T=IH ST

(d) = e

38. Pfifad § | SA-91 T, 9gH TG =
qearsst fowm asa TE &7

(@) ¥ 2iEa | e F
(b} FH-EL TE JI-T HI HH B
(c) TG ST UR T

(d) Tom guma F gaita &

39. W@ & Tt AR @ Fmin Gk g
fora <imam &7

(a) A fd a9
(b) AT AR
(c) o= we™

(d) vrea wfyfy o Tt =

O-DETA-M-HL/48A 17

40, Fefifeag § @ *9-@ w6, Ay =W

WEH F1 @S T 27
() waTe qEer T Tg & s <A

(b) draiel F g AR F arensdt B
F HA

() ¥ W R, Bew Em wge
e # B, ol wemar wem e

(d)aﬂﬁﬁwwamﬁ,@lﬁﬁa
yfurer w fala w@wRa, =i
galcaTgd ST

41. @iy amew e (SDRs) fhsd

wrafm #7
(@ Fad=s
(b) v e q6
(c) T =R we

(d) g q= A

42. shw #, Fefafen & & #F-w @

yfr-fag i 37
(a) <eEa
(b) fwrR
(cj o

(d) At

[(P..T. O.
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'43. The imaginary line on the Earth’s 46. If news is broadcast from London at |

surface that closely: follows the 10:30. AM, at' what: time: it will be [

180° Meridian is heard at Baghdad (45° E)? 1

(a) Prime Meridian (@) 7:30 AM |
(b) 9:00 AM

(b) Equator

(¢ 1:30 PM
(¢) Intermational Date Line

fd) 12:00 Noon |
{d} Tropic of Cancer

47. The site of Harappa is located on the

44, The country that shares longest bank of river

border with India is
{a) Saraswati

(a) China

(b} Indus
(b) Bangladesh . (c) Beas
]
(¢) Nepal fd) Ravi
{d) Pakistan

48. Which ‘one among the following
statements regarding Bal

Gangadhar Tilak is net correct?
45. The distance between two

consecutive longitudes (91° E and

a) He propounded the theory of
-92° E) at the Poles is @) PTOP Ty

the Arctic Home of the Aryans

(a) O km (b)) He founded .the Anti-Cow-
Killing Society

(b) 18 km . -
fc) He set up the Home Rule
League at Poona
{c) 25 km
| |
> ({d) He supported the Age of
(d) 111 km Conseént. Bill L
O-DETA-M-HL/48A 18
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43, Y=l & 9a% W T HAE W@ HAH
2, N '180° TN 1 rgEr FA 27

(a) TTE TR
(b) EECE
(c) Sl R e

(d) Fh-Yar

T R T T

44, FH-T W, G & GF GEQ = @
wTEht S 87

P TRl ST LIP

(o =

% | (b) iR
fc)

(d) wfFe=

45. Y&l W A wAma W=l (91°E 3k
92° E) % 9 it gt 7 2ri?

fa) 0 km
(b) 18 km
() 25 km

(dj 111 km

O-DETA-M-HL/48A 19

46.. R T ¥ 10:30 EE W aWER v@ha

B, @98 @ER (45° E) § fhwamg g
WY

(@) 7:30 @@
{b) 9:00 @ig
{c} '1:30-3T90%

(d) 12:00 9

47. €U F Wa fFE 98 F 92 w e

®?

fa) WA
(b Ty
©) =™

(d} TEl

48, Pefifes wl # } W@ @,

e TR foer % A 3§ W e 47

(o) TR Al & IWyAA oTAW F

(b) IR Mau-ff s i s
&t

() I it om W o
#

(d) T2 gl f g fadws =
anedA fomn

[P.T. O.
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49, Which one among the following
T ‘principles: was not jpropagated by
the Theosophical Society?.

(a)

(b)

{c}

(d)

Belief in Karma and Rebirth

Belief in Universal Brotherhood
and Humanity

——

Belief in Vedantic Philosophy

«

Belief in the Eradication of
Untouchability

50. Which one among the following
statements .is -correct?

(a)

(b}

(c)

(d)

The Revolt of 1857 was not
supperted by the Nizam of
Hyderabad

‘Dinabandhu Mitra was the
author of the book, Unhappy

India

The Sindhias of Gwalior gave
shelter to thé Rani of Jhansi

‘Mangal Pandey led the Sepoys

March to Delhi

O-DETA-M-HL/48A

51."Who among the ‘following Governor-

o
TeT ¥

7 Genérals formed, the: Triple-Alliance
against Tipu Sultan?

(a)

(b)

(c}

(d}

52, Take the case
equal

Warren Hastings

Lord Cornwallis

Lord Wellesley

Lord William Bentinck

of dignity and
rights for women. How

do democracies help?

(a)

(b)

(c)

(d)

Women in democracies have
equal degree of political
representation in legislatures

Women in democracies have
guaranteed rights and are
always treated with respect

-

Women in democracies are not
subjected to sex discrimination
in most aspects of social life

In democracies, the principle of
equality is accepted as legal
norm, which makes it easier to
guarantee their freedom and

dignity
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49, frafafaa. fagt, & @ .99-w, U,

Rrarifera ratgdt graETE T
Ty LI

(6) T e | fam
(b) wTENITE SEER, & aFe # fagma
(c) 3w gl & R

(d) TEFEA-IeH ° faam

50. Fafifga wumt & @ =9-w1 & o 27

{a) 1857 &I i e % P
R wafda 9d o

L:ﬂ

(b) 3T e T % dWH Y
iz

(c) wrEft 1 T = =ferm & fafen
Prck it RSl

(@) wmet qoe X Rgh B i
A g o

O-DETA-M-HL/48A

81, fmfife ol wwat, 4 8@ fFe

2.

ﬁigﬁm%mﬁmﬁamw
a7

(a) arH =
(b) T TR

(c) wE e

a (d') Fﬁ:—g e % ‘

52, gl & ufgenedl i it v gamieER

1 U¥ B, Siad g YR Tge 87

(o) St & wfdenst @ fuvmed
# v e # geeifos s
&t &

(b) A § Afkemsit w1 wem@
e W Ad § AW T |
TR SEER o I @

() aE T ufgenst @ wmwRE
e & stfrsim uet # o9 &
QAT & AT 98T &

(d) dwaE ¥ wEw w g s
uﬁm%mﬁmﬁfﬁ% W 5
amm%

. [P.T. O.
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‘83. The Constitution of” ‘India:-- :s 55.
republican because it

fa) provides for an  elected
Parliament

(b) provides for adult franchise
(c) contains a. bill of rights

(d) has no hereditary elements

54, Assume that India and Pakistan are
engaged in an increasingly volatile
situation over the LoC in Jammu
and Kashmir with a Kargil fype
infiltration by Pakistan. A
conventional war between both the
countries is inevitable under the
shadow of nuclear weapons. In this
situation, what is the nuclear
capacity that India should possess
against Pakistan to deter a nuclear "
exchange?

(a) A first ‘use nuclear policy’

() A much larger nuclear arsenal
than Pakistan

(c) A credible nuclear deterrence
with second strike capability

(d) An intercontinental ballistic
missile with a range of
5000 km

O-DETA-M-HL/48A 22

56.

Which of ‘the following statemerits
is" correct with regard ‘to Yudh
Abhyas?

(a) It is an. Indian military ‘war
game’ with regard to Pakistan

(b) 1t is an Indian military’exercise
with Oman

(¢} Itis an Indian military exercise
with Bhutan

(d) It is an Indian military exercise
with the US ’

4
Al

Which one among the following

statements is correct with regard to
the C-5M Super Galaxy?

(a} Ttis alarge military helicopter

L

o4

(b) It is a large milii‘zfry transport
aircraft

(c) Itis a galaxy of stars very close’

to the Sun.

(d) Tt is a US fighter aircraft to be
completed in 2014
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53. 9N ! GfeuE TR §, Wik ag

(o) TH Faifaa ag &1 svery ot @
(b) TTh RAREER 1 ITY STl B
(c) =Tt 1 frdas afae = @

(d) aﬁéwaaﬂﬁr@m%

54, T AT 5 TR gu S T s

SEHt geis ¥ miy, s o wwir @
frw @ W, wra o ufeem
Tt g8 wfer fRufa & dom &) fiehe
A A o ¥ A [ F A=
TR I8 awr et R) 3@ e #,
Th-g W AR 3l % famo & e
mifrem % g wra & sfmr & T
TEhE g St wnfeu?

(@) oW T ThEER AR

(b) uifsEm i oNam wH ==

() fodm smwmn amage  fowada
Aifhig Famm

(d) 5000 km GUE TN TR
TR v ¢

O-DETA-M-HL/48A

55. ‘g8 3w % gy § Frafafaa st

4 -9 T T R7

(@) WeEH % Ty T 78 Wy A
FE [EEA B

(b) TE AW F T YRS I F TH
S

(c) T8 EH % WY WRAT B H @
3

(d} I® 9o @o}%‘m“ﬂwﬁw T W
T 3y 8

56. C-5M W Towit % ey & Fafafaa

23

FeE H A BT O w77

(a) I8 TH a1 A7 Felierien &

(b) T TF ST A REe e 2

) T8 T F ag@ fee T i
STHTIIT &

(d} I& 2014 § qf 7 T o TWo
1 T AGTE A 8

» [P.T: O.

Educational Material Downloaded from http://www.evidyarthi.in/

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




T

i

57. Consider the ‘following statements :

1.

The Kalinga Prize is.an award
given by  UNESCO for

59. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

O-DETA-M-HL/48A

exceptional skill in ‘presenting
scientific ideas: to laypeople,
'
2. Dorairajan Balasubramanian
was the last person from India
to receive the Kalinga Prize.

Which of, the statements given
above is/are correct?

(@) 1 only
(b) 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

§8. Which one among the following
companies received Golden Peacock
Environment Management Award
for the year 20117

{a) BCCL
(b) NTPC
{c) SAIL

(d) TISCO

24

List-I List-II
(Short-listed Book for (Authorj}
DSC Prize for South

Asian Literature, 2012)
A. Bharathipura 1. Kavery
Nambisan
B: A Street in . Shehan
Srinagar Karunatilaka
C. Chinaman 3. Chandrakanta
D. The Story that 4. U. R. Anantha-
must, not be told murthy
Code :
(@ A B c D
- 4 2: 3 1
) A B C D
1 2 3 4
& A B C D
4 3 2 1
{d A B C D
1 3 2 4

60. In which one among the following
Latin American countries, a woman
‘has for the first time .won the
presidential elections for the second
‘term?

(a). Brazil
(b) Venezuela
{¢) Uruguay

(d) Argentina
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57. FrafRed s W far fifvw

1. Hfam PR UNESCO, 510 e
WA e R R, St oW @ R
dufe et N wegm A R
JrRigRY et & forg e s §)

Wi R A e & S e )

I FuE @ B-a1/E wd 3/8
(@) HaE 1

! (b) a2

€ 1 3R 23t

(df am13mad2

ss.ﬁﬁﬁiﬁaa'mﬁﬁiﬁﬁﬁm@sﬁaﬂ
2011 % forq wof w wEfen s
R g faman?

] {a) BCCL
(b) NTPC
(c) SAIL

(d) TISCO

O-DETA-M-HL/48A

2. SARH FEGIHTE, HAT JEER

28

59: H-1 ® FH-II | gakm HAfm

it & AR Ry T g R
Wﬂﬁﬂ:
-1 -1
(GEL AR R (E)
g DSC T,
2012 % forg wafa
et % Tt 8 ger)
A. yREdigU 1. e AifE™
B. gl @ iR 2. qgd Tl
C. ‘fAnm 3. =gepTl
D. sR AR A 4. o Ao I

ki et

§z:

@ A B C D
4 2 3 1

) A B C D
1 2 3 4

fc) A B C D
4 3 2 1

d A B C D
1 3 2 4

60. Prifiien AR ARA it | e
m #, w wien 3 ueeh ww fdfw

FRiehTe % fg gl 1 e St 27
(aj s
(b) YT
() Tod
(@) R .
[P.T.O.
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61. The macro-nutrients provided . by
inorganic fertilizers are

{a) carbon, iron and boron

(b) magnesium, manganese and
sulphur

(¢) magnesium, zinc and iron

(d} nitrogen, phosphorus and
potassium

62. The  ultimate cause of water

movement in a plant stem against

gravity is

fa) osmosis

(b) transpiration

(¢) photosynthesis

(d) diffusion

63. Vermicompost is a/an

(a)

(b

(c)

(d)

inorganic fertilizer

toxic substance

organic biofertilizer

synthetic fertilizer

O-DETA-M-HL/48A
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64. In wildlife- conservation, which one
among the following best defines an
‘endemic’ species?

(@)

(b)

(c)

(d)

When the critical number of a
species declines in a forest due
to parasitic attack

A species which is cosmo-
politan and can be commonly
found in a biosphere

An endangered species which
is found in a few restricted
areas on the Earth

A species confined to a
particular region and not
found anywhere else

65. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-IT
{Tiger Reserve) (State)
A. Indravati 1. Karnataka
B. Periyar 2. Orissa
C. Simlipal 3. Kerala _
D. Bandipur 4. Chhattisgarh
Code :
(a) A B cC D
1 2 3 4
(b) A B C D
1 3 2 4
fc) A B C D
4 3 2 1
(d A B C D
4 2 3 1




|
i 61. IEHERE A U TEH B SN A 64. FA-T WET &, Frafafes # & ==-m
’ FETTE B ¥ w, ‘Tt i i wele e
: 37
i (o) W, T 3 S (@ 97 T mEwEw k HWO o
i frch Ry B R e W
] () i, SR ot wew it & :
! b B wR oW R @ sk
: (c) reifiem, forh ot Te Sarveet § wmr w3 e @
. (c) UF Tk i S gl W TS
(d) T, e A qREm it o & @ By
(d) @ sfa s el fadm & % Wifta
62. MY F.q0 § e % fomg SIA-w=EE H
SRR 10 0 3 65. Wil W wh-n ¥ gifem Al il
gl & A9 g g g w5
:. (@) TE Fo R ;
F{b) SIS o -1 -1
. . - (e afgm &) (T9)
(c) ST A TEEA 1. wleh
’ , C B. f@r 2. 3@
@ C. fmefum 3. ¥
D, W 4, BITE.
63. FH-FHiw F1 87 . 2
o @@ A B C D
(a) aﬁlﬁ‘ﬁ%aﬁ&ﬁ 1 2 3 4
: k) A B C D
(b) ey vaTe 1 3 2 4
” () A B C D
(c) TEES I I 4 3 2 i
. @ A B C D
(d) WfFE IETh 4 2 3 1
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66. Duncan Passage is 'located hetween
fa) South and Litgle Andaman
(b) Little and Great ‘Nicobar
"
(¢} North and Middle Andaman

(d). Middle and South Andaman

67. Consider the following statements :

1. Ozone is mostly found in, the
stratosphere.

2. Ozone layer lies 55-75 km
above the surface of the Earth.

3. Ozébne absorbs\ ultraviolet

‘radiation from the Sun. '

4. Ozone layer has no significance
for life on the Earth.

Which of the statements given
above are correct?

(@) 1 and 2
(b) 1 and, 3
(¢ 2 and 3

(d) 3 and 4

O-DETA-M-HL/48A

'68. The main ared “6f prodiiction®of
icebergs is found.in

"{a) the West Coast. of Greenland
(b) the East Coast of Japan
(c) the North Coast of Siberia

{d) the West Coast of Africa

X
69. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-I List-I
(Battle) (Treaty)
A. The Third 1. Treaty of Salbai
Carnatic War
B. The Third 2. Treaty of
Mysore War ‘Lahare.
C. The First 3. Treaty of Paris
Maratha War -
D. The First Anglo- 4. Treaty of
Sikh War Srirangapatam
Code :
(@ A B C D
2 1 4 3
(b} A B C D
2 4 1 3

) A B C D

(d A B

-P:IO
8. O

Educational Material Downloaded from http://www.evidyarthi.in/

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers
imlizeres. wrewr-se-row il ] .




— ——

LI ILT T T S I TTTr IT |

e e reT e —

EEEE= T TR

= = gyt

66. <a Y T i fem 27 2 s

it

‘.‘t_

(a) =Pl o Ry sveAM & v
() Fofea oz Fean & o

(c) I M e SUSAE & A

[ 2.

(@) wea 3R el sveAH & e

=

67. Trrfeiaa st w fem Hif

1. ¥NW gerd: wHamAmed § 9
STt R |

2. RN f Wa gedt i daE F
55-75 km 9 f&m 21

3. WM, g @ o aeh wEh

faferror =t srEmioe sl & 1
4. WA T W T W e R
%Y W Tl 8,
e ol § @ W w8
Y
(@) 132
() 133 .
) 233

(dy -3¥ 4
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68.. < 76 g9 W -HE. 87 FHel Jqv

fa] e % afanfl §E H°
(b), STIHE T G &
(c) WrEATEn ¥ T a2 #

(d) TR % ufif e §

69. T-1 & -1l ¥ gafem Hifv ik

gl % A g T g2 i w w
3Tl ﬂﬁ? :
-1 11
(3@ (wf)
A. A FAREgE 1. Wiewd Al
B. g &gy , 2. WERHEY
C. wuH w3l I 3. ufw # dfy
D. weq-3e-frg 4. sfforen Fi |9
g4
TR :
fa) A B c D
2 1 4 3
A B C D
2 4 1 .3
{c) -A B € D
- 3 4 1 2
) A B C D
3 1 4 2
£ [ B.T: O.
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70. The Operation Polo was associated.

with the annexation of which one
among the following Princely States
into Indian Union?

(a) Kashmir
(b)- Junagadh
{c) Travancore

{d)- Hyderabad

71. The name of Ram Prasad. Bismil is
associated with

(4) ‘Kanpur Conspiracy Case
(b) Alipore Conspiracy Case
{c) Kakori Conspiracy’ Case

(d). Meerut Conspiracy Case

72. Which one among the following was
not a demand of the Prarthana
Samaj?

(o} Women education
(b} Widow remarriage

{¢) Raising the age of marriage for
boys and girls

(d) Abolition of untouchability

O-DETA-M-HL/48A

73. Which of the. following statements
-about Permanent Settlement are
correct?

1. If conferred ‘proprietary rights
to peasants.

2. The Zamindars were recog-
nized as the proprietors of
land.

‘3. The governmert ‘permanently
fixed the land revenue demand.

4, The Zamindars acted as the
middlemen between the
peasants and the government.

Select the correct answer using the
code given below :

Code :

{@ 2,3 and 4
(b) 3 and 4 only
{c) T and 4

(d) 1 and 3

74. Which one: among the following
nontoxic gases helps in formation
of enzymes which ripen friit?
fa) Acetylene
(b) Ethane
(c/ Methane
(d) Carbon dioxide

75. Age of fossil may be found out by
determining the ratio of two
isotopes of carbon..The isotopes are

faj C-12 and C-13
{b) C-13 and C-1%
{c) C-12 and C-14
{d) C-12 and carbon black
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(b) SEWTE
(c) FERR

(d) A"

71. wvErR fafem %1 9w el wEg 87
(a) HEG T B
(b) AT A
{c) FEHI 9T TG

(d) W@ vgHA FH

72, Fafefiga § @ F9-9 @&, ‘wd wu’
H 7t 7t ofi?

(@) & Rew
(b) Tauan gafdamg

[0 <EH TH wgfral i far 6 a7y
7 gfg &=

(d) ST H G
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73, fraftfian & ¥ ¥R} wum fawmh

TR % wrry § af €7

1. T FEE P @ iR
WM o)

2. el ® 4ft & @ftEt & w9 A
Tr=ar fiedt |

3. &R Ty @ At A el §9
¥ ffim = feam

4, wifler, FwH X F@ER *F &=
T Y qfieer v @)

R W g w m | W
ghu

T2

a) 2, 334

(b) Haw 3 3R 4

) 134

(d) 13M3

74, Fafofea d & FA-d = Fofed 3=
Tfeve W SR T gEEar wE g, S Gel
Y R 87
(o) i
(b) 397
fc) WA
(d) THEA SIS

75, S A WY, FEA F QA GEEEH

Igue F fFaion W, Aem f S oawd
21 3 gt #-3 §7

fa) C-12 3R C-13
(b) C-13 3K C-14
c) C-12 3 C-14
(d) C-12 N FE

{P.T.O.
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76. Which one among the following
statements is correct?

(a) All proteins are enzymes
{b) All enzymes are proteins
‘fc) None of the enzymes is protein

'{d) None of the proteins is enzyme

77. Which one among ‘the following
statements is correct?"

fa) All bases are alkalis
(b} None of the bases is alkali

(c) There are no more bases
except the alkalis

(d) All alkalis are bases but all
bases are not alkalis

78. Suppose a terrorist. group has laid
siege to the Hazratbal Shrine in
Srinagar, Kashmir. They have also
taken around 80 civilians hostage.
Which one among the following will
bethe best response by the security
forces in this situation?

a) Threaten the terrorists using
loudspeakers with immediate
military action unless they
surrender

(b) Surround the mosque ‘with,
visible army deployment and
then attack the mosque
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{c) Carry out a joint army-air force
raid on, the ‘mosque

{d) Negotiate with the terrorists by
utilizing a local mediator to
buy time and then send in
special National  Security
Guard (NSG) commandos

79. Which one among the following
statements about NATO is not
correct?

(@) NATO is a. collective defence
organization in Europe

(b} The US is an ex officio member
of NATO

{c) Turkey is a member of NATO

(d) NATO has 28 independent
member States

80. The Cabinet Mission ‘Plan for India
envisaged a

{a) Federation

(b) Confederation

fc) Unitary form of Government

(d) Union of States
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76. T=fafEa 3 @ P wF HYE GG &7
(@) T W, sfwoa 3
(b} wh wfFva, W @
(c) %+ wfve, N T @

(d) F§ i A, wfrra 7 &

77. fefafga # @ 9w = FE T R
(a) &t U, R E
(b) S oft e, wR T R

* fc) & 3 e B 3R R T §

(d oft g, guF T arg ot &,
g 7 &

78. WH WY, TF ARt wE A A,
E ot § goRaad g A A
1! 21 R @ 80 APTRE A dus ff
5 1 R 21 5w @ #, Prefifa QA
: Fe-d oF gan o f gdRy whbeE

T 89 wHarg F Al uEhl
1, @ % T 3 wdw 3 W d

() <@ & TRfEeA @ TR #® W
1 3 TR uitsg o g &

I anfi?
(a) FahaEEl ® TRSHER W
I
|
|
I
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(c) WiESE T GYH YTAAT-ATIEAT -l
FAIfaq AT

(@) =l ¥ @ TR & U @
AT AEw w @ W
ATl A ST w1 AR fR
frds wflw g ME (NSG) FASt
e

79. frafafeas st 4 @ F9-91 &, NATO
& ey T T Rt

(@) NATO T4 H TH WHEH Tl
S &

(b) Fo THo, NATO F TH YA & 8
(c) TH, NATO F1 T 6aH ¢

(d) NATO % 28 W7 eH T4 &

80. WKa % forv e fgm @ 3 e
fo=m forn?

(a} FETEY (mﬂ)
(b) i (FIHSEA)
{c} UHTH® WET h! TR

(d) TSt FHA
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81. The Natiénal Commission for Women
was created by

fa) an amendment in  the
Constitution of India

(b} adecision of the Union Cabinet

(¢¢ an Act passed by the
Parliament

(d) an order of the President of
India-

82. Under which law it is prescribed that

* all proceedings in the Supreme
Court of India shall be in English
language?

{a) The Supreme Court Rules, 1966

(b) A Legislation made by the
Parliament

{c) Article 145 of the Constitution
of India

(d) Article 348 of the Constitution
of India

83. Which one of the following reactions
is the main cause of the energy
radiation from the Sun?

(a) Fusion reaction
(b) Fission reaction
(¢) Chemical reaction

(d) Diffusion reaction
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84,

In SONAR, we use
(a) ultrasonic waves
(b) infrasonic waves -
(c) radio waves

(d) audible sound waves

85. A liquid is kept in a regular

cylindrical vessel up to a certain
height. If this vessel is -replaced by
another cylindrical vessel having
half the area of cross-section of the
bottom, the pressure on the bottom
will

(a) remain unaffected

(b} be reduced to half the earlier
pressure

() be increased to twice the
earlier pressure

(d} be reduced to one-fourth the
earlier ‘pressure

-

86. The time period of a simple

pendulum having a spherical
wooden bob is 2s. If the bob is
replaced by a metallic one twice as
heavy, the time period will be

(a). more than 2 s,

(b} 2s
fc 1s

(d) less than 1s

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers

[




et T TR
' )

81. YA Afeen AW GRIG MR . - 84. ;SONAR # F1 3T el &7 .
: (@) Wa ¥ dfagm i dme | (a) TS GG
: ) e ¥ foka & (b)  FF=A
| )
i ) L ) e a@d
: () T gw it srffam |
(d) et w

(d) ¥d & Tgafa % IR A

= (L e ——

85. @ﬁaﬁammﬁmﬁ@aﬂﬁ
w fift Sd o @ W) ARk

g2, fra s ¥ orwia ag fafta & B v & ai ®) @ Y AT @ wwa

(b) wEe g feran man Fafy-frmior

(c) WA % Giawm &1 3g=ee 145

: S A A w Frad S0 *Q &, R Tt A opRa-EE T
1: Tt # geft? A% o 8, a el 9T H gl
l (a) FGH AT FEm, 1966 (a) STt & R

(b) T qd T T AN @ FET

(c) -G g o1 G B SR

(d] TEH G T il - @ S

(d) “9Rd % GRUW T 37T 348

86. TF TIIHR w8 7ok arct fodll @@
i 83, frefefa & @ A afbe, g @ e & A 2 s 31 AR e A
.5 et T 1 e w87 TR SR T wifes Mo § sl
; 51 S, @ 3TedeT ¥ Em?
! @ (a) 2 s ¥ Al
ii ' (b) TrEveR iffEn b 2s
(o) TEmERe sl () 1s
; (d) T siffsm @ 1s¥%A
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87. Which ohe amohg the ‘following
statements about an atom is not
correct? i

(a) Atoms always combine to form
molecules

(b) Atoms are the basic units from
which molecules and ions are

formed

- e

c) Atoms are always neutral in
nature

{d) Atoms. .aggregate in large
numbers to form the matter
that we can see, feel and touch

88.-:China recently- objected the
participation of an Indian company
in..its joint venture with another
country for offshore oil exploration.
Which one among the following is
that country?

orb
- {a); Myanmar-
{b) South Korea.
{c) Taiwan

(d) Vietnam

O-DETA-M-HL/48A
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89. Which one among the foilowi%g
statements is correct?

The current Prime Minister of Nepal
Dr. Baburam Bhattarai.is heading a

fa) consensus government of all
major political parties of Nepal

(b) Nepali Congress-Maoist-UML
coalition government

(¢} Nepali Congress-Maoist
coalition government

{d) Maoist-Madhesi coalition
government

90. An African country, Sudan has been
broken into two recently with
formation of a new country named
South Sudan. Economy of South
Sudan will depend on its

(a) agricultural product
(b} minerals
{c) forest product

{d) fishery product




B i Wl

87. Frafufen #  H-a1, 0% F T
o  wel vt 27

(a) TRATY BRI T TR AY T &

(5) Ty SR g €, R a1y
S A A &

(c) I TEWTE - AT A € B

(d) T ged WEm # YR g
werd TR &, R e 3@ wed g,
VT L T § N P w8

88, ¥ & 1§ .9,

aUae A @ % T,

W AW F WY AW E W A T
. O FEA F A A W amufa #il
frafaRga # § a8 -9 oW 87

(a) AR

e

Ad

(b) =faor e

fc) IR

(d) fomam
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8o. Frafifaa § @ F-91 TF Y7 §7 87

YTt % TAAH T STo FUH WERTE

(@) Jura Fafl ygE TeEfos Sl il
FEARTA TTHR T e T &

(b) urcht FHF-TAEE-UML TEH
R Bl AP W@ &

{c) Jareh HE-TEE TETHT T
1 g W R &

(d) TRIEEA-AE TEET WERR

I W@ §

90. Tl € 1 vk R W gEw A awit F 72

T, 3 U T 3w o T s gem
F am R mn sRw ogem #
sefegaen fFg W it @My

(o) TEF BN IR W

(b) IEF @i W

(c) IFF I IAE W

(d) T A IAR N

we  [B.T.O
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91. Indian Space Research Organization
and the Airport Authority of India
have recently signed a memorandum
of understanding to install a
space-based augmentation system
(SBAS} to render the Global
‘Positioning System signal suitable
for civil aviation over the Indian
airspace. What is the name of
the SBAS?

fa) GAGAN
(b)) PAWAN
(c) AAKASH

(d) NABH

92. World’s first gold and jewelry-
encrusted car—Gold Plus, was
unveiled in the year 2011 as a
tribute to 5000 years of Indian
jewelry making. Who among the
following was the maker of the car?

(a) Tata Motors
{b) Maruti ‘Suzuki
{c) Hundai

{d) Volkswagen
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93. Which bne among the following
‘statements is' not correct?

The word ‘socialist’ in the Preamble

of the Constitution of India, read

with

(a) Article. "39 (d), would enable

" the Court to uphold the
constitutionality of nationali-
zation laws

(b) Article 14, would enable the
Court to strike down a statute
which failed to achieve the
socialist goal to the fullest
extent

{(c) Article 25, would enable the
Court to ensure freedom
guaranteed under that Article

(d) Article 23, -would enable the
Court to reduce inequality in
income and status

94. Suppose a legislation was passed by
the Parliament. imposing certain
restrictions on newspapers. These
included page .ceiling, price and
advertisements. The legislation is
included in the Ninth Schedule to
the Constitution of India. In this
context, which one among the
following: statements is correct?

(a) The legislation is invalid as it
violates the freedom of Press

(b) The legislation is valid by
virtue of Article 31B

{c) The legislation is invalid
as it imposes unreasonable
restrictions under Article 19 (2)
of the Constitution

{d) The legislation is valid as the
Pre_ss_ is not a citizen under
Article 19 of the Constitution




91, WY IraRY JATHUR TSN AR WRA™
e wite 3w &3 e a1y
&9 ¥ I wafE T & fiw suge
yvees wom-fufon st 3@ § f
s=ftg-anaifm dada wonelt (SBAS)
wift w1 ¥ o wugdar-wm w
e fpu €1 SBAS w1 H1 AW 87

(a) GAGAN
(b} PAWAN
¢/ AAKASH

{d) NABH

92. WG amuw fmfr & 5000 af B H
wofer # af 2011 #, fag 6 et @
3R It | I HR—"Tee @
TR R T T HR @ WA e
frafifya § @ 97 w?

fa) i Wl
(b) WA G
¢} T

(d) TFEATR
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93. Fefifigs wuAl # @ FF-w & wdt T

134

ad & dfaum it R § ‘aneady’

Jisg,

(a) 38 39(d) * "M ufed,
T faftat Y gawmfea s d
@R ¥g AgEd i anel sEnen

(b) FTHWR 14 % @y ufsa, W FF
H S QT AT § qEEE @6
N T FA F AEES A O D,
fraftea v # o™ ® wwd
T

(c) =T 25 & Try ufsd, =y
30 IFT F H-ala IR Seadl
ghfim 0 & v smem

(d) 3T 23 F WY ufdd, 3™ W
wfem H sl § w6 w0 F
fore ey %1 awed sem

94, ¥R ife, Hog T i w e

wE-E | g fAm Rl @

aAfdqn et ®1 w6 gEi A arfieean

i, fma qu foge aftifem 81 =

faum wra & w@fgm f D oy |

afiiferm }1 s o= #, Prfafae st
® | ®F-91 U wER?

(@) 48 fum afaftm 8, w=iF ==
I9 F T w1 AfamHon wa g
(b) 3% 31B & MM W g faum

faftmr &

) =B faum afaftmry 3, wif% w7
faym & Ig=R 19(2) % J=Ed
argfua el = siftrigor e @

(d} T faum faftmr 2, wifs afaus
F JTWE 19 & A=ria W TH
A T R

[P.T.O.
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95, 7With. regard t6 the powers of the
Rajya Sabha, whi¢ch one among the
following statements is not correct?

(@) A Money Bill cannot be
introduced in thé Rajya Sabha

{b) The Rajya Sabha has no power
either to reject or amend a

Money' Bill

() The Rajya Sabha' cannot
discuss the Annual Financial
Statement

{d) The Rajya Sabha has no power
to. vote. on the Demands for
Grants

96. The Nehru-Mahalanobis strategy of
development guided the planning
‘practice in India from the

(a) First .Five-Year Plan. to the
Sixth, Five-Year Plan’

(b} Fourth Five-Year Plan to the
Eighth Five-Year Plan

{c). Second Five-Year- Plan to the
Seventh Five-Year Plan

(d) First Five-Year Plan to the
Eighth Five-Year Plan
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'97. While a proclamation of ‘emergerncy

~ is in operation, the duration of the

Lok Sabha can be extended. for a
period

(a) not exceeding three months
(b) not exceeding nine months
(c) of one year at a time

(d) of two years at a time

98. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-I
{Joint Naval (Countries)
Exercise)
A. Konkan 1. India-France
B. Malabar 2. India-United Kingdom
C. Varuna 3. India-Russia
D. Indra 4, India-United States
Code :
fal A B C D
2 1 4 3
(b)) A B cC D
3 4 1 2
fc) A B C D
3 1 4 2
(d A B C D
2 4 1 3
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95. T w1 wiw & wrw,H, Frfifes
HoAt 8§ ¥ HA-T1 1% LT 27

(@) T oA R genfia T
frsngwEa s

() T B F w1 fatmEw W
FEfFR a1 aniE = B wife Td
Tt B

(o) T wn e f e w =
€ X Tl ]

[ 2
i

(d) mw%maﬁaﬁ-qﬁﬁmnﬁ
A A s 7 Bt R

s
E

96. ﬁmmaﬁﬁw-waq‘ri%ﬁlmm‘ﬁ:ﬁmﬁ
AT -af3Ran =1 AnfeRia fhan

(@) WM q=Edig SeET @ o TeEdE
AT T

(p) =eft - duedffar S ¥ ewa
YeEig Tl 96

.
c) Tada d=adffs e & @
Teayly ASE a6

(d) o qeEta e R e deEia
oS qF |

O-DETA-M-HL/48A 41

ofials, tes

Educational Material Downloaded from http://www.evidyarthi.in

97.. W9, 3T, R IgFon WA A &, 9 Fih
w # sty e omfa, @ ¥ f
‘T S-wehdl §7 :

X_ - .
(@) A=A st
(b) W 7N | Efw
(c) THIRH T

(d) TEERFR T

T
o8, -1 W - ¥ gafm Hifm
gl F A= Ry T F2 = W=
X E[ﬁl‘Q ” r
w1 g
(vigw Nafaw (&)
ITR)
A. i 1. YA-T"
B. WAER 2. WRa-gRes faen
C. = 3. Wa-&§
D. ¥5 4 W—Tlﬁ?g@‘{ﬂ ,
,ﬁz M

. hY
{c) A C D
3 1 4 2
Mo
@ A ,B .C D
2 4 1 .3
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(a)
(b}
(c)

(d)

(a)

{b)

{c)

(d}

(a)

(b)

(d}

99, If you travel along the Suez Canal
from Port' Said to Suez; 'you will
come across several lakes; ‘Which of
the following lakes is not on this
Canal?

Great Bitter Lake

Little Bitter Lake-

Lake Gatun

Lake Timsah

100. Xerophytes represent ‘the class of
vegetation found in

tropical rain forest.
humid micro-thermal_climate
semi-arid steppes

tundra region

101. What is a cloudburst?

It refers to sudden and copious

rainfall over a small area which
often lasts for only a few
minutes

It refers to S0 mm rain over a
period of time

It is. caused by rapid
condensation of very high
clouds

If refers to a thunderstorm
with little rain

~ O-DETA-M-HL/48A

102, Which' one among the following' is
not correct. regarding Tsunami?

(a)

{b)

(c).

(dj

Tsunamis have a very long
wavelength

Tsunamis have a slight swell of
about twelve inches above the
normal sea surface

Tsunamis grow in height when
they reach shallower water

Tides also play an important
role: in the generation of
Tsunamis

103. Which one among the following

statements regarding India’s coal is.

not correct?

(a)

()

()
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98 percent of reserves of coal
in India belongs to Gondwana
period

‘Unknown amount of coal lies
Ganga.

buried under the
alluvium and the Deccan Trap

Bituminous coal is found in
both lower Gondwana rocks

-and in Tertiary rocks

Gondwana coal is mainly
found in the river valleys of
Damodar, Mahanadi and
Godavari
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99. 7Rk 9 W A W H AR W TR F

TIY-GTd 3T g A, 9 Shl qE
e sfiet o Fafafles shet & @
FA-Hi @, 39 TE & T T 37

(a) W fa @
(b) Tafe o &=
(c) & g

(d) < fewen

100. T&GE H7 U1 FH dTell aAedtd % it

frefim =+ €7

(@) IWEREE awi 9=
(b) AT GEH-IN] S
(c) AUk a@ H1 HeW

(d) T W

101. If¥ worie 7 &7

(@) TT TE B & F ARGk T fage
Tt # fFiffe w §, S 9gw Haw
F3 et & form ot R

(b) 9% TH s vmEEfe § 50 mm
aui %! e @ g

() a8 9gd $A <eal & ga @EAT &
T BT

(d) o€ w9 a8l & Wy aled-FEn w
fifde wxar 2
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102, ffafea & & =F-w ws,, gl &

TRy # il T 87
(a) g‘-rrlﬁ?ﬁafﬁagaamﬁavﬁafﬁ?ﬁ%

(b) TR H GE TR % S S
AITE §9 1 WA UM B §

(c) FEEa fod T T T W

(@) gRE H st # saR-wR, o
weag i fma &

103. Fafafigs f= & @ -1 ™, a5

HIT & Ay 7 g TE 77

(@) Y@ T 98 Wfwg HiFe w1 WUSK
Tiea™ T & & &

(b) ®RERA F 3 TR TN SeAgE 3R
o 2U % A Tl i @

¢ Tt s weam
frat of el dl, SFt # uwRn
EIGIE

(d} TS FHF FEAG: THR, TEE
3R Terait Y Adrenfedt # arn S
2
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104. Consider the following statements :

1. Coriolis effect is zero at the
Equator.

2. Coriolis effect is more towards
the Poles.

" 3. Coriolis effects are related
to the decreasing rotational

velocity with increasing
latitudes.

4. Coriolis effects are related to
the increasing rotational
velocity with increasing
latitudes.

Which of the statements given
above are correct?

(a} 1, 2.and 3
(b) 1 and 3 only
{(c) 1,2 and 4
(d) 2 and 4 only

105. The Viceregal' Lodge at Shimla is
a well-known ancient monument.
Which of the following statements
about the monument are correct?
1. The Lodge was built by 17th

Viceroy, Earl Dufferin.

2. The present shape of the
building was given by Earl of
Marquis of Lansdowne.

3. It is famous for holding three
meetings before Independence
of India including the Cabinet
Mission.

Select the correct answer using the

code given below :

Code :

fa) 1,2 and 3

(b) 2 and 3 only -

fc) 1 and 3 only

(d) 1 and 2 only
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106. Who among the following Chinese
travelers visited the kingdoms of
Harshavardhana and Kumar
Bhaskar Varma ?

(a) I-tsing

Fa-Hien

(b)

(c)

Hiuen Tsang

{d) Sun Shuyun

107. Which one among the following
Indus cities was known for water
management?

(a) Lothal

{b) Mohenjo-daro
{c)

Harappa

Dholavira

(d)
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104, Fr=fafaa st w fer.difm

1.

Fifo wvE fageq W& w @
g 2|

2. wNATE J9E &t hil T A
BT 3|

3. HieAifom 9@ dgd §U FEW &
1Y T2Q W RS 9§ g
]

4, RS T9E Tgd T G &
Y Fgd §C UATEE a § WG
gl

Iedes worl 3 @ BA-0 g &7

@) 1,233

(b) a1 T 3

fc) 1,234

(d) ¥ 2 4

105, RN 1 AT o O gea S
W B 39 @R & wery § o
FAT § @ BH-8 9 57

1.

RG]

g
R

(@)
(b}
fc)
(d)

I8 o ¥9Ed JEEE, o) SHRA
T ST T A1

999 H GAAM IHN TESRA b
a7t 11w ARERY g fen T )

g WA K TaAar & Ig h A=
Ja%, Tl SRz fimm of et
2, iR w0 F fog aig 1

R W e W WM W W

1, 2 3R 3
Fae 2 3 3
Faer 1.31R 3
el 1 3R 2
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106, Frefafaa < ot 4 4 frad wiada
3R T e Tut & st oA it
7 ’

(a) M

{b) IR

(c) T G

(d} I3 IT

107. ﬁgm%mmﬁﬁﬁaﬁa-m
T, Sl Yaue & fore e siran an?

fa) oA

(b) e

(c). T

(d) daE
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108. Consider the following statements : Select the correct answer using the

. code given below :
According to Hindu Law, marriage ' & oW

is defined as

Code :
1. a contract
2. a sacrament (a) 4-2-3-1
3. mutual understanding
4. indissoluble (b) 1-2-3—+4
Which of the statements given (c) 2-1-4-3
above is/are correct?
(d) 3-2-1—4
(¢) 1 only
(b} 2 only 111. Match List-I with List-II and select
the correct answer using the code
(¢ 1 and 3 given below the Lists :
(d) 2 and 4 List-T List-IT
(Social Reformer) (Association)
109. Which one among the following A. lyothee Thass 1. gaty a§hodhak ]
States was first annexed by Lord amaj
Dathousie under the Doctrine of B. Jyotiba Phule 2. Dravida
Lapse? Kazhagam
' C. John 3. Self-Respect
(a) Nagpur Rathinam Movement )
. ]
b) Jhansi D. E. V. 'Ran.la- 4, Dravn:ia
swami Naickar Mahajana Sabha
(c) Sambalpur
Code :
(d) Satara
fa) A B C D
110. Identify the correct sequence of the 4 2 1 3
following events of Indian history b)) A B c D
(starting with the earliest) : 3 1 2 4
1. The Doctrine of Lapse © A B c D
2. The Subsidiary Alliance 4 1 2 3
3. The Treaty of Lahore d A B c D
4. The Pitt’s India Act 3 2 1 4
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108, fafefaa sut @ = iR - e R ™ g W o wowd I
fog i ¥ g, fre whonfa 3 KRS
1. UF g & §H Re:
2. UF UWHR & & ‘
3. A @ & ®9H (@ 425
4. BT FwqH | (b) 1-2-3-4
.’ v e 7 8 e R @ 2149
! (a) e 1 (d) 3-2-i-4
[ o) w2
© 193 111. g & g0 @ gl i el
o R & R R e ge w @ =W oad
| d) 23R4 W g ;
i1 HqEt-11
109. fefifan o=t 4 ¥ =W, (awTe GUTE) (wEa)
| T=-aggwr Ay & orla @id e .
' T wdse e H fven forn T on? LA L. W
B, wfgen 5 2. wfos wem
(a) AT e , N :
' C. <4 e 3. UTH-tFE EHe
(b) D. o dfto T 4. 3f¥e YEEE W
(c) wEAgR e
(d) waQ ‘ +< .
@@ A B C D
: 4 2 1 3
110. Wi e it Frefafaa wemsit =
TE ogHN ¥ UgEHT (@ WoW @ ) A B C D
Ie3a HIR) - 3 1 2 4
1. to9-3ugw fifd © A Bu c b
2. wEEs gy (aqRitead somwm) 4 1. 2 3
3. améR & Efy @A B C D
4. fom i 2 1 4
]
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112. Which one among the  following
statements regarding Jorwe.Culture
is not correct?

(a) Pravara-Godavari Valley was
the nuclear’ zone of! Jorwe
Culture

(b) The main sites: of Jorwe
Culture are Daimabad,
Inamgaon, Jorwe and Nevasa

{c} At Daimabad, one gets
archaeological evidence .of
symbolic burial

ap

(d) Practically all Jorwe
§etﬂements in the Northern
Deccan were ©  suddenly

- -

' Tdeserted

-
"

113. Ashokan inscriptions of .Mansehra
and Shahbazgadhi are written in

3"

fa} Prakrit language, Kharoshthi
script

(b) Prakritl language, Brahmi
script

-

(c) Prakrit-Aramaic language,
Brahmi script

{d) Aramaic language, Kharoshthi
script i
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114. Who among the following scholars
were contemporary of Kanishka ?

1. Ashvaghosa
2. Nagarjuna
3. Vasumitra
4. Chanakya

L :
Select the correct answer using the
code given below :

Code :

{a} 1 and 2 only
(b) 3 and 4

fc) 2 and 4

{d 1, 2 and 3

115. Sabin Award is given ‘for the
conservation of

(a) amp'flii)ians
{b) reptiles.
fc) birds

(d) corals
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112, frfefas #ot § § 9@ w6, W@ 114, Peffew § 3 S92 fae s % %
TR % vy & wdl i R7 TIHTAA A7 ;
1. 3r¥EN
(q) TR-TRER T, SR R 2. A
o & oft 3. wgfm
4, TR
(b) S FH ¥ T TS I[EHEE, - |
EELE
: : )
(c) IRAEE T VAHIHE THATY A
qrTfea e fiera &
(@) e 1 3 2
(d) =EEiew 1 &, I q@ #§ wdfi
S sfwmEl s song & i ) 334
{c 234
@ 1,23R3
113. WMEEU R YAl % o & ow
foret fora gu @7 . f
115, Wifq g fFes dam & g wem
{a) STHRa W, WA faf Teram <t &7
{a} 3INI=T
(b) Spe v, SEh fefy
(b) wga
(c}) WHd-3EEH W, srel fafd
(c) ush
(d) SamTE W, T faf (d) vaa
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116. The Indian research station Himadri 119. In the year 2011, a scientist from
is located at USA discovered ‘BISIN’, which

(a) Siachen
(@) is a natural preservative and
(b) Darjeeling can extend food’s- life for
several years
{c) Arctic Region

(d) Antarctica (b) can insulate cells of brain

117. The year 2011 was the centenary
year for which one among the {c) claims for fastest prevention of
following policy-making bodies of bacterial infection
the Government of India in scientific
research and development?

{d) is a distant galaxy

{a) ISRO
(b) ICAR
(¢ ICMR 120. In the year _201-‘1, a ‘missile named
‘PRAHAR’, developed by DRDQO was
test fired. This is a
(@) CSIR ire isis a
:
l 118. In the year 2011, NASA launched a (a) short-range surface to air
! mission to study the Moon from missile.

‘crust_to core’ through its

fa) Gravity Recovery and Interior (b)

long-range surface to air
Laboratory

missile

(b) Fast Auroral Snapshot Explorer

Spacecraft . _
P {c) short-range surface to surface

missile
{c) Ultraviolet Spectroscopic h

Explorer Spacecraft

long-range surface to surface

(d) Transition Region and Coronal (d)
missile

Explorer Spacecraft
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116. WRAE SgeuH 5 ‘femfy’ wef fém 27
(o) Tt
(b) A
(c) e &

(d) SRR

117, s gEye o fowm § wRa ¥R
F fafafga & @ B/ w Hifa-fafa
Frepm & fog o 2011, o o an?
(a) ISRO
(b) ICAR

() ICMR

(d) CSIR

118. 98 2011 % NASA 4 ¥=W & 920 @
‘wie’ suEd % T o fiem e fee
TN/ A REE | JewEn?

(@) T&E AN SR SFaey TrTsITen

(b) 74 g gl @il sraReEm
(o) T e i e

[d) wwmm 83 ok fRidm @t
STAREaE.

O-DETA-M-HL/48A

119, 7§ 2011 # o o W & AWMEE I

BISIN’ ! @9 Hi| 98

fa) Tk WEplaw wfees @SR @@ w
I Tl % 3T& I9C W@ GHaT
2

(b) wiwss & HifEwRT w U W
adl &

(c) SHaTY] THAY & TG A UHUH H
T FT B

(d) T A ATHEERT 8

120. =8 2011 ® DRDO 3gm fa=fyd

‘PRAHAR’ TH& TH Y& alisor &
e Srer Tl % ww A7

(@) Sg-IRR R ¥ T F fom
TR

() d-ufmr s @ @ % fow
JEIITE

(c) TYg-9fR s ¥ W= % fag
YU

d) FE-qfeR Sfm & e F R
U

[P.T.O.
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SPACE FOR ROUGH' WORK
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SPACE FOR ROUGH WORK
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W A STE qE T GREET WA W T HE WY @ 7 et

At . : O-DETA-M-HL Titeror gfeast iRy
128305  9UIeT01 giErent A
RIL I | !
FAY : Y YU qurts : 100 .
IgTw !

1. witen wrow R &% T 9, 9 38 qhan gieae € ugare sava W E TR ga @ fae om, v X
q1 YL FIAT B I wew e 7 ¢ AR qen , @ 9@ wdt whewm geEn @ wg@ wiRe -

2. IM-uFF # Wl F9 R wdan gitem -sg@n A, B, Cmnumﬁmmﬁwﬁﬁm ‘

3. W wiigw giae w ww # Re U FwE A U |I
srais foram 1 whaw g w stk g9 7 R | |

4. 7g vhew TR § 120 yEiw (7@) Ry g § vy R ok sideh § oW §) wle wwin & =R
wegw (3W) Re 1) 7 ¥ o Tgw H G A, B o9 - W sifha w0 wed #1 AR s W@
w1 % T & i gt g §, df W v i sifea ot S Tl gt | Yk Y % Ry e
T @ SR T

5. H I At TR AT A Ry M FW-vFF W @ 3ifka FA &) sw-wAw # Ry my Fdw Wi

6. T vyt F 3w @ §) I

7. 3@ vga 6 g wluw YR & i swiml & S| S9-wmE W AR 6 e R, A B\
YAW-94 % WY WA arREt & ogER 39 fam sw-mw § 31 §)

8. 39 AT T TG B IW-TH F WS F AR a1 T F GO R FEA IW-GAF qefieF @ A 3 [
MR 3 |y TEm yfem @ s A orgEfa R ;

9. ¥ T ¥ fo ww whaw yferm % aa & wem ) ‘
10. Tea I &+ forg Tvm o
TEgfE ww-TEt # sefean g Ry g e w9id & fog gve Rar wmem '
(i) A% W99 % BT 9w defRs aw &)1 IEfiTan T e v % g Ry T s new W S g v R '
faga frg T ot @1 ww-fagd (0°33) @0 & w9 o FHer e
(i) 3R N goficar @ ¥ afis W AW B, 9 W Tem I wwn wem, ol R et § ¥ o ow wd
B B, 5 oft 39 v & e Iedwgen & St @@ w= 3us R som
(iti) =R Irfiear T FX ww T T e o R, srfq Iefigan g s A o s @, @t 3w ww % fa
wré qug 7 R wmem)

- mma@ﬁﬁmg@m@ﬂﬁaﬁqmmww:@ﬁ ]

Note : English version of the instructions is printed on the front cover of this Boodklet.
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